Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C300011 Date: 30- 12-2016
Subject Name: Basic Chemistry (Group 4)
Time: 10:30 AM TO 12:00 PM Total Marks: 70

Instructions:

1.

g~ W

No.

Attempt all questions.

Make suitable assumption wherever necessary.

Each question is of 1 mark.

Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

English version is authentic.

Question Text and Option. U#l e ([Ascql.
Which of the following has Eight S attached in its molecular structure ?

A.  Phosphorus B.  Sulphar

C. Kwartz D. Mica

[AActl HIA Slotl URARL GLURRL HL AL S BISIAA &L © 2
A Qg B ues

C.  saen D. sl

KCl contain........... bond

A. Metallic bond B.  lonic bond

C. Hydrogen bond D. Covalent bond
KCL .......olt YRl &

A uilcas B. s

C. et D, us ddlws
What is the solid form of carbon atom ?

A. Mica B. Kwartz

C.  Asbestos D. Graphite
§10{et URHIE oll Yol AU 52 & ?

A Rl B saga

C. A D Asie
Which catalyst is used in manufacture of vegetable Ghee ?

A. V205 B. Al0Os

C. Ni D. CuCl
deiRuld @ [ olottae HL 520 Glaus ol GuAoL Al B
A. V205 B. AlOs

C. Ni D. CuCl

Which is the symbol of Co-ordinate Co-valent bond ?

A B.

cC. = D. None

Al Us UAws ol [ sl 58 & ?

A B.

In which bond the collection of water accumulates in cells of animal and plant ?
A. Hydrogen bond B.  lonic bond
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10.

0.

11.

1.

12.

.

13.

3.

Co-valent bond
AR S ol
U AAws ol

4
1

BCC
None of these

BCC
AsuBL o3

95600
96500

cU4s00
€¢SUu00

Electro typing

C. Metallic bond D.
Yol e cotruld st i W@l o0l dols sell vitd ol AR B
A slgQaset oit B.
C. s oiu D.
How many valency of Chlorine in the HCI ?
A 3 B.
C. 2 D.
HCL L sARet ofl dAoyscll decll ?

A 3

C. D.
Which kind of arrangement in CsClI ?

A. HCP B.
C. FCC D.
CsCI Hi 52Ul Us(R ol olsarll slat &
A. HCP B.
C. FCC D.
1F = Columb

A. 96600 B.
C. 95500 D.
1 %A = ... Eletdl

A ¢5500

C. euwoo D.
Wax block are used for

A.  Electro refining B.
C. Metal extraction D.

ML ot oAl ... HS duRlA B

Electro plating

A uid yRsal gasdlelsiol

C. i ot Rl sAsSLARoL

What is the PH of 0.2 M HCL solution ?

A. 2.6990 B. 23010

C. 0.3010 D. 0.6990

0.2 M HCLall alal [ & e ?

A 2.5¢e0 B. 23040

C. 03040 D o.s¢eco

Acetic acid and Sodium acetate is an example of buffer solution
A. Neutral B. Salt

C. Acidic D. Basic

AARs ARS WA ASlAH AR2e ... WU$ alalll of GELERWL & ?
A ded B auR

C. ARBs D.  aBs

What is the effect of dilution of solution on degree of ionisation ?

A. Increase B.  Decrease

C. Constant D. All of the above

alalll A HE scll AURUASL B2 QUR 9 AU U ?
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14.

.

15.

Q.

16.

6.

17.

9.

18.

c.

19.

e.

20.

R0.

A qudl B. ¢eq

C. yum ¥ D GluR ol sl
PH of basic solution is

A <7 B. =7

C. >7 D. None of these
AGs stadl @ PH ...........

A, <7 B. =7

C. > D Asugl «tél
Buffer solution is the solution whose PH

A. Remains constant B. Increases

C. Decreases D. None of these
W$R alalll Ag wlaQl & ¥ Bl PH ........

A wum ) B. @
C.u D A5 uag o}
What is the PH limits of buffer solution NH4sOH + NH4CL ?
A. 6-9 B. 9-11

C. 37-56 D. 11-35

0% alalll NH,OH + NH,CL (@ waiel 32@ ® ?

A s-c¢ B- ¢ -1q4

C 309-us D qa-3u
is polar molecule ?

A. Benzene B.  Alcohol

C. Water D. Carbon tetra chloride

........... ylAa alas B

A QDo B, awesdle

C. u@ D gelot 22l sQRYS

What is the PH of Netural solution ?

A 6 B. 5

C. 7 D. -7

de¥ glael @ PH 3el@

A ¢ B. y

What is the meaning of PIT ?

A. Hilloac B. Puddle

C. Diy D. Well

Qe AeA g 2

A s B wicd@y

Cwd D ga

Arrhenious theory of ionisation is presented in which year

A. 1886 B. 1887

C. 1889 D. 1888

US[AUA WAl sl AN HL %Y sl

A qees B qce
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21.

1.

22.

2.

23.

3.

24,

R¥.

25.

QY.

26.

26.

27.

V.

C. acce D. qeec
The process of coating on TIN of the surface of iron is known as

A. Galvanising B.  Electro plating

C. Metal cladding D. Tinning

ALls @ AUR UR Rol tlg of US UBAUHL WA Al dal

A S BoL B.  gasenalal

C. Ned sABat D. Rt
corrosion is obseeved in rivets and bolts

A.  Water line B.  Pitting

C. Atmospheric D. Crevice

RAe ua clee Hi......... &R0l Bl HA ©

Ayl @ RA ad B. Rl

C. aldlare @ ad D. s ui ug

Corrosion rate is ......... atmosphere moisture

A. Lessthan B.  More than

C. Proportional to D. Medium

&UR0QL ol €2 A clclaRQL ol A% oll YHIRL ol ..........

C a yu D o ay

........... is the group of CI, Br, 1 ?

A. Halogen B. Amine

C. Keton D. Alcohol

CLBI, I .......... UHe B

A At B.  Quefot

C. (32t D. wesdle

This is not a factor of corrosion

A. Nature of film B.  Moisture

C. PH of solution D. Nature of solvent

.......... &R1L UR AR sl URato otell

A QB ol ysiR B @

C. gag <l PH D. qlas ol usl@

The water which give lather with soap is called a water

A. Hard B. Impure

C. Pure D. Soft

% uill e A oL AU A ......... 53 ®

A 53at B gty

C. g D olrn

The molecular weight of Ca(CHO:3): is gm/mol

A. 146 B. 120

C. 136 D. 162

3(A2AH ol slollale ol URQRIR ... AUH /7 HA &

A qys B- 120

C. a3s D. qs2
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28.

RC.

29.

€.

30.

30.

31.

34.

32.

3R.

33.

33.

34.

3%.

35.

1PPM = French

A 1 B. 0.01

C. 01 D 10

e Ll = 5

A q B. 0.01

C. o1 D 0

PH of blood should be........

A. 7.35 B. 7.37

C. 736 D. 738

@2 Al PH ........... B2l (AR 8 AN

A 93y B. 930

C. 03¢ D v3¢

Which kind of impurities in drinking water ?

A.  Physicale impurities B.  Biological impurities

C.  Chemical impurities D. ABC

Qe ot will 1 58 wYER Wlal 1A B

A dllQs wgR B.  ®As gl

C Rruagls uy®R D aBC

Full from of PPM is

A.  Part per minute B.  Part per million

C. Part per mole D.  Part per molarity

YLALAM of Y3 olir ...

A yed wR BQe B. yied w2 AQast

C ey ur A D yeed u2 AaRR
is not the type of corrosion

A.  Atmospheric corrosion B.  Concentration cell

C. Electro chemical corrosion D. Drycell

......... &R0l ol st ol

A aldlaRy ¢l ad B adel sl

C. ey Axu2@ls D 48 sy

Which kind of impurities we can’t see at open eye ?

A.  Colloidal impurities B.  Suspended impurities

C. Dissolved impurities D. None of these

wRll oll sau ysi? ofl Wy eell upll cdutd o3l N A astdl el

A s uyER B el 2y ®R

C. glcat wy R D Asugl o3

How many percentage of water is in fruits and vegetabels ?

A. 90-93 B. 90-92

C. 90-95 D. 90-94

sO0 el seu Hi ecl ast Yl wiell of yriel slal 1AL &

A o -3 B ¢o-¢z

C. co-eu D co-ex

In the engine of air craft which lubricant is used ?
A.  Synthetic lubricant B.  Liquid lubricant



34.

36.

36.

37.

39.

38.

3¢.

39.

3¢.

40.

¥0.

41.

¥q.

42.

C. Solid lubricant D. Semi solid lubricant
sclleS %ol% WeBol HL S Wes AURAU B

A il \es B.  yaR es

C. uot 85 D e ust ates

As surface area of cathode increases electron consumption capacity..........
A. Increases B.  Decreases

C. Constant D. Increases —Decreases
$S oll ARBU ARA AR AH Al Aot skl sl &HAL ... 8
A all B w2

C wun Do c@ - w2

Valancy of carbon is

A 2 B. 4

C. 1 D. 3

slolol [ U205 ......... R

A o B.

C. q D. 3

The level of free chlorin in drinking water is no more then PPM
A 1lto?2 B. 0.01t00.02

C. 0.10t00.20 D. 01t00.2

Wlet cttas well Hi Ysd scldlet of yaual ........ YLl el aug AR
o3

A qeflR B, 0.00 9 0.02

C. o.a0elo0.20 D. o420

In water line corrosion the metallic portion which remains in contact with air acts
as

A. Cathode B.  Electrode

C. Anode D. Salt bridge

el ofl oflA el sl 1l Ulg el oll AUS ML W A ......... olal ®
A Bals B sdsils

C. Aals D az &q

The general formula of Alkynes is

A. CnH2n B. CnHan+2

C. CnHanss D. CnHan2

WIES ol of AHRU YA ... R

A. CnH2n B. CnHon2

C. CnHanss D. CnHoan2

The hybridization in which One S and Two P orbitals take part is called
A.  SP? B. SP?

C. SP D. Asuel o4l

% WL HL AS S Val 6l P s&1sl Aol A At ... 56 O

A. sp B. SP?

C. SP D Asugl «tél

Which method is not used to make soft water ?

A. Lime soda B. EDTA

C. lonexchange D. Zeiolite
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¥R.

43.

¥3.

44,

¥Y¥.

45.

¥4,

46.

¥S.

47.

¥9.

48.

¥C.

49,

¥C.

58 Utd(d Well o ol cotiatallel Ul otell

A AQlsL csH
C. e @Qalua

........... is use as a fuel in diesel engine

A. Kerosine
C. Diesel

Sl WePat oll HNARl 313

B.
D.

B.
D.

EDTA

A cse

Gas
Petrol

ol GLuoL A &

A 3ot B, ay

C. dxa D. Q3
Which of the following is amine

A. CHsNH; B. CH3sCONH;
C. CHsCOCHs D. CHsOH
(Aol Hiell A s B

A. CHsNH: B. CHsCONH:
C. CHsCOCHs D. CHsOH
Viscosity of liquid lubricant is demoted in.....

A. Minute B. Hour

C. Lenth D. Second
Yald s ol Raloudl i gallaaHl A B
A QARe B.  saus

C. aus D QAsos

Which toles is useful for lubricant fire and flase

A.  Pensky Martens B.  Viscometer

C. Refractometer D. Ameter

W65 oll WL WA elssl (Olg oll HIiUal HIZ Sl Ulel ol GUADL AU B

A Qs Hdlet B. (A8l Me?

C. R¥sel Mez D. Afez

......... show aldehyde group

A. -COOH B. -OH

C. -CHO D. -COOR

....... UESELBS UM WA B

A. - COOH B. -OH

C. -CHO D. -COOR

Flase point of good lubricant should be

A.  Moderate B. High

C. Low D. Toolow

URL Yld ¢les of ass (g 8lg slsA

A yyel AR B. Ay

C. oy ctget o1y

Bakelite made from

A. Phenol + Methanol B.  Phenol + Urea

C. Phenol + Acetone D. Phenol + Formaldehyde

ASALBL ........ Hiedl ol ®

A Bala+ RAAe B el + yYRau
D.

C. GSO‘ﬂC't + AYelet

(Sl + SHIR6LES
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50.

Uo.

51.

uq.

52.

YR,

53.

u3.

54,

uy.

55.

wy,

56.

us.

S57.

From Which polymer blanket is made by ?

A. Orlon B. Teflon
C. Epoxy resins D. Poly styrene
6Qode sl W(AHR Hiell clotictaml waA &
A AQRA B. 25l
C. AUEA 2ot D Q@ adlet

is the monomer of poly ethylene
A. Mithylene B.  Propylene
C. Styrene D. Ethylene
Wl Slll@ot ol WAMR ...
A Rel@dt B qll@at
C. Rt D gall@et
What is used for vulcanization of rubber
A. Sodium B. Oxygen
C. Sulphur D. Phosphorous
R0R oll ACKUETRAL M2 Y AURNA O
A QSlan B. 5t
C yas D Qlgeu
When a very large chain is formed which is called
A. Dimer B. Polymer
C.  Monomer D.  Trimer
ULEL AV AR A ASRAAL Sl A Aa ... 58 ©
A SIEHR B, q@nz
C. Qa2 D. aluz
Which chemical used to binding two surface ?
A. Lubricant B. Plastic
C. Adhesive D.  Rubber
A AULEA lsall s UELL A cURjA B ?
A des B- s
C.o ol uetd D Qwr
Monomer of natural rubber is
A. Poly isoprene B.  Isoprene
C. Neoprene D. Pentene
........... A el R oll WolHR &

Well 2usAYlet B. g let

C Qayle D Qetdlot

is a co-polymer
A. Decron B.  Poly ethylene
C. PV.C D. Poly propylene
......... A As Us vgues B
A 358l B Qell sell@ot
C. PVC Do Qell Qucllst
Which of the following is monomer Teflon
A. CF,=CF B. CF-CR
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.

58.

uc.

59.

ue.

60.

SO.

61.

5.

62.

SR.

63.

G3.

64.

C. CH»-CH2 D. CH2=CH;
o{lAotl HiYl 5L 25C oll HAlHR ARY i B

A. CF=CF; B. CF,-CR

C. CH»-CH» D. CH> =CHg
Regarding strength o- bond ........ m-bond

A = B. <

C. = D. >

Ul A Wefdellal ool ... o oly

A = B. <

C. = D. >

The mixture of water and oil is called

A.  Saponification B.  Emulsification
C. Emulsion D.  True solution

el A Ad ol AswLa ... 58 O

A U0150L Auls B. warlls:el uis
C D. iy slaw
What is called required milligram of KOH to produce soap from oil ?
A.  Emulsification Number B. Acid value
C. Neutralization Number D.  Saponification Number
Act Higll A sletiaal %331 KOH ol AAaUH o 9 5& &
A yallsel uis B. AR uis
C. e@sz0L uis D ugs2a s
are vegetable oil,animal oil and mineral oil
A.  Synthetic lubricants B.  Solid lubricants
C. Liquid lubricant D.  Semi solid lubricant
detrufd Act , Yl Ad A wolls Ad ... R
A dials w@les B. ot wlos
Co yauR a8 D. il uol 68
Carbon of methane molecule has hybridization
A. Sp3 B. SP?
C. SP D. DSP?
Mot 4 HL ’A St6let ......... UsWL YRA B
A. Sp3 B. SP?
C. SP D. DSP?
in not the example of coaqulation ?

A.  Alum powder B.  Ferrous sulphate
C.  Ammonium sulphate D. Bleaching powder
......... A Weol of GeleWL olell

g2s(S B ¥u ucke
C. ARam ucke D ocll@ot was?

is used in sewing machine

A.  Solid lubricant B.  Fluid film lubrication
C. Boundary lubrication D.  Synthetic lubricant
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S¥.

65.

SU.

66.

SS.

67.

SO.

68.

SC.

69.

Sc.

70.

90.

Alctaatl A Hi......... AuRA B

A yol 68 B.

Co Aadl @set D.
is semi-synthetic fiber

A.  Cellulose nintrate B.

C. Orlon D.

........... AL uigAls ™ B

A AYA s

C. ARA D.
is used for Book branding

A. Casein glue B.

C. Blood albumin glue D.

o5 BRIl U2 ....... QUL aA B

A Ballet o B.

C. 25cd ey let j€? D.

Polythen is a polymesisation of

A.  Themosetting plastic B.

C. Thermoplastic D.

Wellellet A ... wugues B

A el B.

C o yova D.

......... Name of CHq

A. Ethen B.

C. Propane D.

CHsof ollH ........ R

A 5ad

C. Yot D.

Butadiene + Styrene =

A. Buna-S B.

C. Polystyrene D.

sfelstSol + RlARet = ..........

A el - s

C. Q@A =aBat

Buna-N is a rubber

A. lonic B.

C. Natural D.

ooll = N ........... YUSIR of R0R &

A Rl

ARA US w&al
Ui ls 68

Nylon
Terylene

oll2lAlet
23l

Animale glue
Vegetable glue

yelles o€
cdotru(q el R
Thermosetting plastic and

Thermoplastic
None of these

AU U 3ol U Yol
As Ul o3

Methane
Nonen

hBEL
ololet

Buna-N
Neoprene

ofoll — N
ERIRE

Semi synthetic
Synthetic

A RARS
R8s

*hkkkkhkkkhkhkhkkiikikkikk
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